Final (Compiler) Name: Grade:

1.(10%).1s the following grammar LL(1) ? Explain why ?
S—>Ab

A->a

A->B

A->¢

B->Db

B->¢

2. (10%) Rewrite the following left recursive grammar into non-recursive EBNF
grammar.
S—Aalb
A—>Ac|Sd|e

3.(10%) Use one example to show that the following grammar is ambiguous.

stat > if cond then stat
| if cond then stat else stat
| other-stat

4.(10%) Isthe following grammar SLR(1) ?

S-> Id:=A A ~2ld:=A
A>E E->E+P
E->P P->Id
P->(A)

5. (10%) Based on the Post-fix form of a parsing tree, transfer the following
expression into the intermediate code (quadruples, PH7Ei=Y).
R=(@*b+c)-(a* (b+c))

6. (10%) For the following grammar rules, write the related semantic rules. For
example, for the rule, type--> float, the related semantic rule is type.dtype = real.
decl--> type var-list
type-->int
type-->float
var-list;-->id, var-list,
var-list-->id
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7. (10%) Given the declaration B: array[0..3, 1..6] of integer, show the corresponding
quadruples (P4=Fi=1), for the statement BJ[I, J] := 5. Assuming  that datais stored in
the row-magjor and an integer is represented in 3 bytes.

8.(10%) For the Precedence table for the following grammar, write down the parsing
steps for the input $ID+(ID+ID)$.

S>$E$
E>F
F>F+T
F>T
T-> ID
T>(E)
E F T ID + ( ) $
E =2 2
= 0> 0>
T o> 0> o>
ID o> o> o>
+ = <0 <0
( 2 <0 <0 <0 <0
) 0> o> o>
$ 2 <0 <0 <0 <0
Step Parse Stack ‘ Remaining Input
1 | $ID+(ID+ID)$

9. (20%) Lab.

(a) oF ™epY yacc il g pl 1 S ZFIPT PR fi function - yace T} ﬁ?\ T 2B
g (e

(b) B[HA =%~ [ NUMBER [ token » ¢ {1 yace i1 > forf[ifjr £ 77 yace
r’ﬁc“EJiF%f[ﬁi token ?

(c) AR yace MR 4 LI FHERT > T 1 % T3S token fURIORER 2

(@ 7% (©) > s ES token [EEAVIIR LT BES S 2

(&) MHFE|~ % “ADB+CY (U 5 > i iy yace iR el Ui 5 2
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